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T } % Uz Ustab Ureg ’min = max
' v v Voo mA
E 1436 Marc 1 140 100 5 1+ 10
GR 25-4 DGL 2
GR 100/DZ DGL 3} 140 100 315
QS 92/10 EEV 1 140 92 5 1 =10
QS 1202Y) EEV 4 133 108 3 2 + 15
RT 85/15 LMT 5/6 140 80--100 ‘ 5 = 15
TE 16 Osr 7 115 90 15 max
T 2647 eur 10 150 90--110 15 max
105 B 1 Mul - 105 5 = 15
109 B 1 Mul I 109 5 = 15
6140 amer | 8)
6141 amer 9| 160 100 46
7475 eur ‘ 1 140 90--100 | 8 1 -8
1) vide *4
Equivalents
AW 2 BA = 7475 ST 11 GEC = 7475
CR 100/Z DGL = GR 25-4 Vs 70 RAF = 7475
4 2 4 3 4 4 5 4
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